Harmonic Series $\sum_{n=1}^{+\infty} \frac{1}{n}$ Study of the Harmonic Numbers $H_{n} = \sum_{k=1}^{n} \frac{1}{k}, n \in \mathbb{N}$ $* increasing \qquad May 28,2c$ $* not bdd above \qquad (1)$ May 28,2020

S: N→R lim Sn=Li n→∞ pen then lim Antp=4. Formally M_{n+p} , $n \in \mathcal{N}$ is "another fequence call it b: $\mathcal{N} \Rightarrow \mathcal{R}$, $b_n = S_{n+p}$ for \mathcal{N} . ₩ε>O JN(ε) ER s.t. the KI n>N/ε)= Jn-L/E YE>O IM(E) ∈ RS. F. HNEN N>NE) J_J_-L/CE

Let ne N be such that $n > M(\varepsilon) = N(\varepsilon) - p$ either p Let ne N be such that $n > M(\varepsilon) = N(\varepsilon) - p$. then n+p>N(E). ByGI tsee I deduce $|A_{n+p}-L| \leq \Sigma$ above The big red box has completely been greenified

Let us go back to Infinite Series Another Specific famous Infinite Series is the Harmonic Sevier: $\sum_{n=1}^{\infty} \frac{1}{n}$ Its partial Sums are called Harmonic Numbers $ne/N \quad H_n = \sum_{k=1}^n \frac{1}{k}.$

 $H_{1} = 1$ $H_2 = 1 + \frac{1}{2} = \frac{3}{2}$ $H_{3} = 1 + \frac{1}{2} + \frac{1}{3} = \frac{3}{2} + \frac{1}{3} = \frac{9+2}{6} = \frac{11}{6}$ $\forall n \in N \quad H_{n+1} - H_n = \frac{1}{n+1} > 0$ Hence HNEN Hn < Hn+1. Thus, the sequence of harmonic numbers is INCREASING.

By the MCT, the sequence of harmonic numbers converges if and only if it is bdd above.

The seguence of Harmonic numbers is NOT bod above. I will greenity this statement with This greenification is a beautiful reasoning. We consider the Harmonic numbers with indexes that are the powers of 2: 1,2,4,8,16,32,

 $H_{2^{5}} = H_{B} = H_{4} + \frac{1}{5} + \frac{1}{6} + \frac{1}{7} + \frac{1}{8} > H_{4} + \frac{1}{8} > 1 + 2 \cdot \frac{1}{2} + \frac{1}{2} = 1 + 3 \cdot \frac{1}{2}$ $H_{gq} = H_{16} = H_g + \frac{1}{9} + \dots + \frac{1}{16} > H_g + 8 \cdot \frac{1}{16} > 1 + 3 \frac{1}{2} + \frac{1}{2} = 140 \frac{1}{2}$ This is a recurryive proof of Pizza-Party recursion $H_{2^{m}} = H_{2^{m-1}} + \frac{1}{2^{m-1}+1} + \cdots + \frac{1}{2^{m}} \neq H_{2^{m}} + \frac{1}{2} \neq \frac{1}{2} + \frac{1}{2} = 1 + \frac{1}{2} = \frac{1}{2} = 1 + \frac{1}{2} = \frac{1}{2} = 1 + \frac{1}{2} = \frac{$

Hurs we recursively proved (Mathematical Induction TMEIN BIN not bodd $H_{2m} > 1 + \frac{m}{2}$ above JMERS.+. Hnew an EM I want to move that VMER In ENS. H. I Hny Frond Greenify HuistRED BOXA



Solve it: $\frac{m}{2} > M-1 \iff m > 2M-2$ Since we need $m \in N_0$, we must have $2M-1 \ge 0$, that is $M \ge 1/2$. But, for M < 1/2 we can take m = 0. Thus $H M \in \mathbb{R}$ setting $n_M = 2 \xrightarrow{max} \{ \lfloor 2M-1 \rfloor_1 ^{\circ} \}$ will lead to $H_{n_M} > M$. needs to be will lead to $H_{n_M} > M$. Set m_M = max {[2M-1],0]. Then $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = 1 + \frac{12^{m-1}}{2} > 1 + \frac{2^{m-2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = \frac{1 + \frac{12^{m-1}}{2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = \frac{1 + \frac{12^{m-2}}{2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = \frac{1 + \frac{12^{m-2}}{2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = \frac{1 + \frac{12^{m-2}}{2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = \frac{1 + \frac{12^{m-2}}{2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = \frac{1 + \frac{12^{m-2}}{2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = \frac{1 + \frac{12^{m-2}}{2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = \frac{1 + \frac{12^{m-2}}{2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = \frac{1 + \frac{12^{m-2}}{2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = \frac{1 + \frac{12^{m-2}}{2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{m_{m}}{2}}{2} = \frac{1 + \frac{12^{m-2}}{2}}{2} = M$ $H_{2^{m_{M}}} = \frac{1 + \frac{12^{m-2}}{2}}{2} = M$